
20 Min.

1/8Assembly Instruction/Montageanleitung Bela Schreibtisch 83-157-07-M

Max 
20 kg



2/8

M6

O
x14

P

M6x16
x20

Nr Stück ColliAusmaß (mm)
A

    B

C
D

    E
   F

G
   H
    I

J

K

L
M
N

A A

B

B

C

C

D

D

E

E

F

F

G

G

H

H

I

I

J

J

K

K

L

L

M

M

N

N

958 457 20 1
1
1
1
1
2
1

1
1
1

1

1
1
1

960 200 20
960 190 20

500 190 20
500 190 20
140 180 20
296 136 230
296 136 230
958 200 20
750 500 50

750

960
960
960

500

50
50
50

50

20
20
20

1
x25Q

x6R

V
x1

5 mm

S
x6

Fi 15x14

T

x6Fi 8x42
U

x6
Fi 15

Assembly Instruction/Montageanleitung Bela Schreibtisch 83-157-07-M



3/8

V
x1

4 mm

P

M6x16

x6

K

K

K

K

K

M

M

M

N

N

N

L

J

P

P

P

P

P

P

P

V
P

1

1

2

23

V

3

Assembly Instruction/Montageanleitung Bela Schreibtisch 83-157-07-M



4/8

V
x1

4 mm

P

M6x16

x10
M6

O
x10

A

A

A

K

K

K

P

P

P

V

P

P
P

O
O

O O
O

O

O
O

O
O

O

O

O

O O

O

O

O

P
PP
P

P

P P

P
P

P

M

M

M

N

L

1

2
3

Assembly Instruction/Montageanleitung Bela Schreibtisch 83-157-07-M



 5/8

S
x2Fi 15x14

x2
T

Fi 8x42

U
x2

Fi 15
x11

Fi 8x30

Q

T
+

S, U

Q

Q
Q

Q
Q Q

Q
Q

Q Q
Q

Q

Q

Q

Q

Q

Q

S

S

S

T

T

TU

U

U

Assembly Instruction/Montageanleitung Bela Schreibtisch 83-157-07-M



 6/8

S
x4Fi 15x14

x4
T

Fi 8x42

U
x4

Fi 15
x8

Fi 8x30

Q

T
+

S, U

Q

S
U U

UU

T

T

S

U

U

ST

Q

Q

Q

Q

Q

Q

Q Q
T T

T

S

S

S

Q

Q
Q

Q

C

C

C

B

B

B

D

D

D

E

FF

Assembly Instruction/Montageanleitung Bela Schreibtisch 83-157-07-M



7/8

x8
Fi 8x30

Q

Q

V
x1

5 mm

x6R

B

B
B

A

A A

M

M
M

K

K
K

J

L

L

D

D

D

C

C

C

F

F

F

F
E

Q

QQ
QQQ

R
R

R

V R
R

R

V

Assembly Instruction/Montageanleitung Bela Schreibtisch 83-157-07-M

R R
R



 8/8

V
x1

5 mmM6

O
x4

P

M6x16
x4

O

P P
P

P
V

P

O

O

O

O

A

A A

B

B B

C

C
C

D
E

E

E

F

F

G

H

H

I

I
I

J

JJ

K

M

M M

Assembly Instruction/Montageanleitung Bela Schreibtisch 83-157-07-M


